2 REARE=SIVBRERR

i LT #55E (Ba/ke)

No | siEEtk | AR | wErH | . AP | FEER G RE RE% P L) R, B par | BRE 0 BR | oois | cerwr | osant
1 %f*ﬁb,j BER FEH = FeimBE R BEY 47 — BERRERE V- Ge H25.7.13 | H25.7.13 <84 <6.5 <15
2 %f‘;%;yj BEER FEAN |- FEE BEY 47 — EERBRERE I Ge H25.7.13 | H257.13 <9.0 <89 <18
3 %§§J>7‘ BER FEH = B BEY 47 — BERERERE V- Ge H25.7.13 | H25.7.13 <89 <65 <15
4 %f‘;%;yj BEER FEAN |- FEE BEY 47 — EERBRERE I Ge H25.7.13 | H257.13 <94 <82 <18
5 %f*ﬁb,j BER FEH = FeimBE R BEY 47 — BERRERE V- Ge H25.7.13 | H25.7.13 <72 <6.7 <14
6 %f‘;%;yj BEER FEAN |- FEE BEY 47 — EERBRERE I Ge H25.7.13 | H257.13 <91 <85 <18
7 %f*ﬁb,j BER FEH = FeiE R BEY 47 — BERRERE - Ge H25.7.13 | H25.7.13 <80 <6.2 <14
8 %f‘;%;yj BEER FEAN |- FEE BEY 47 — EERBRERE I Ge H25.7.13 | H257.13 <14 <6.0 <13
9 %§§J>7‘ BER FEH = FeimBE R BEY 47 — BERRERE V- Ge H25.7.13 | H25.7.13 <15 <717 <15
10 %f‘;%;yj BEER FET = AR BED 47/ — EERBRERE I Ge H25.7.13 | H25.7.13 <83 <11 <16
1 %f*ﬁb,j rER FEH |- FeimBE R BEY 4B — BERRERE V- Ge H25.7.13 | H25.7.13 <84 <84 <17
12 %f‘;%;yj BEER REHR |— FEE BEY 47 — EERBRERE I Ge H25.7.13 | H257.13 <88 <19 A7
13 %§§J>7‘ rER aRE | — FeimBE R BEY 4B — BERRERE V- Ge H25.7.13 | H25.7.13 <78 <78 <16
14 %f‘;%;yj BEER HRRET [ — FEE BEY 47 — EERBRERE I Ge H25.7.13 | H257.13 <6.0 <6.0 <12
15 %f*ﬁb,j rER aRE | — FeimBE R BEY 4B — BERRERE V- Ge H25.7.13 | H25.7.13 <9.0 <13 <16
16 %f‘;%;yj BEER AT |— FEE BEY 47 — EERBRERE I Ge H25.7.13 | H257.13 <10 <16 <15
17 %f*ﬁb,j BER =HE |- FeimBE R BEY 47 — BERRERE V- Ge H25.7.13 | H25.7.13 <717 <13 <15
18 %f‘;%;yj BEER BLm | — FEE REY M — EERBRERE I Ge H25.7.10 | H25.7.12 <12 <13 <25
19 %f*ﬁb,j rER Wi |— I REY hE — BERRERE V- Ge H257.10 | H257.12 | <15 <17 <32
20 %f‘;%;yj EER BAEm |- FEE REY M — EERBRERE I Ge H25.7.10 | H25.7.12 <15 <14 <29
21 %f*ﬁb,j rER pEm |- I REY hE — BERRERE V- Ge H257.10 | H25.7.12 | <13 <16 <29
22 %f‘;%;yj BEER REHR |— FEE REY M — EERBRERE I Ge H25.7.10 | H25.7.12 <15 212 21
23 %f*ﬁb,j BER RIRET | I REY hE — BERRERE V- Ge H25.7.10 | H25.7.12 <16 <16 <32
24 %f‘;%;yj BEER REET |— FEE REY M — EERBRERE I Ge H25.7.10 | H25.7.12 <18 <17 <35
25 %f*ﬁb,j rER REET |— I REY hE — BERRERE V- Ge H257.10 | H257.12 | <15 <13 <28
26 %f‘;%;yj BEER g |— FEE REY M — EERBRERE I Ge H25.7.11 | H25.7.12 <20 <18 <38
27 %§§J>7‘ rER =HE |- I REY hE — RERRRRE V- Ge H25.7.10 | H25.7.12 <14 <13 <27




